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A : 202343H18H (+) 24 TEERERK A /KK (50m) 1/1
No. 23 IRy 4X50m Y—T7 ¢ AU L — BA®G 10
e 56 1) 1-xEE 1
o - Daz 7T 14
F—L% KEg  BF B HTECER
1 G. Phenix 2/ 5 1:13. 82
17.53 34. 97 54. 51
O B #mH (S5) @ #Mr —IK (S3) @ ipE Him (S5) @ kAW Efg (s4)
17.53 17. 44 (+0. 19) 19. 54 (+0. 10) 19. 31 (+0. 21)
2 NLS 2/ 4 1:14. 88
16. 54 37.87 54. 39
O FaEs =3t (S2) @ ¥y ftum (S2) @ ¥ Vi (S3) @ KRzEE L x 1B (s2)
16. 54 21. 33 (+0. 26) 16. 52 (+0. 17) 20. 49 (+0. 16)
3 NAITA—FST 2/ 6 1:17. 18
18. 07 37.56 58.21
O o EHE (S5) @ WAy [l (52) @ AR HfE SH @ % =BE (S3)
18. 07 19. 49 (+0. 45) 20. 65 (+0. 47) 18. 97 (+0. 61)
4 NLS 2/ 3 1:18. 12
17. 64 38.76 56. 66
O #HE R (84) @ $kHEHY (52) @ &H HEh (S2) @ “ErrfaFi#HE (s1)
17. 64 21.12 (+0. 31) 17. 90 (+0. 41) 21. 46 (+0. 35)
5 ATHRA 2/ 7 1:22. 87
19.19 38.58 1:01.03
OREYNH == (S2) @ AH HEX (S3) @ W& A (S1) @ ®wW)l HEN (S1)
19.19 19. 39 (+0. 29) 22. 45 (+0. 17) 21.84 (+0. 57)
6 RS S 1/ 3 1:27. 42
22.30 44.81 1:08.18
OMTF BAE (S2) @ &k B (S6) @ FkA  WRRS Y1) @ B4 #EX (S1)
22.30 22.51 (+0. 25) 23. 37 (+0. 10) 19. 24 (+0. 65)
7 Orange 1/ 6 1:28. 77
21. 46 45.19 1:06.92
O RBE M (ST @ il EiE (S7) @ MEH  JkEk (S6) @ FR3kfEZ A (Y2)
21. 46 23.73 (+0. 53) 21.73 (+0. 34) 21. 85 (+0. 33)
8 NATA—FST 2/ 2 1:29. 56
20. 19 40.55 1:04.93
O Hr 5L 1) @ 46k f& (S3) ©® [MHE HIIE Y1) @ #%H W1 (Y1)
20. 19 20. 36 (+0. 35) 24. 38 (+0. 48) 24. 63 (+0. 43)
9 RS S 1/ 5 1:29. 69
19. 04 43.59 1:08.87
O ¥epk A (S1) @ /My FFfk S ® K &-o% (1) @ A& X (S2)
19. 04 24.55 (+0. 57) 25.28 (+0.12) 20. 82 (+0. 28)
10 2 1/ 2 1:43.09
23.95 47.49 1:16.98
O #ZH il (S6) @ L &4 ST ©® A Bt V3) @ PH»oT (ST
23.95 23. 54 (+0. 48) 29. 49 (+0. 24) 26. 11 (+0. 48)
Orange 1/ 7 DSQ
23.07
O gl = (S3) @ ey AKH (S4) @ WA Hik (S6) @ iRy E (v2)
23.07
NETFFSC 1/ 4 DSQ
22.57 47.178
O #HRBET SH @ =@ #HH (Y2) @ Wwr B (V3) @ AR & (S7)
22.57 25.21 (+0. 61)
WA HEE: 3H18H 17:13



